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1 ¢ On Monday morning there were 12 inches of snow on the '(1) ':;

ground. The weather warmed up, and by Tuesday morning, K
2 inches had melted. 2 more inches melted by Wednesday | <7~
morning. This pattern continued throughout the week until TJH.\
\ no more snow was left. X 5 |t

/
k Create an equation and a graph to show the relationship

between the day and the amount of snow on the ground. Chpe veprend
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Find the slope of the linear function defined by the table

Time Worked

Hours (%)

Amount of Money Earned

Dollars ($)<7)

Half-Day -~ _> - > 54.00

1 Day 8 108.00
2 Days 216.00

1 Week 40 540.00
1 Month 180 2,430.00

What does the slope represent in this situation?
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Jill just received $40. The number of doIIars she has left (y) after x days is
approximated by the formulaL40 2.9% Graph the equation and use tf the graph
to estimate how much money Jill will have 8 days later.
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(8- Priya read a book cover to cover in a single session, at a rate of 55 pages per hour. After reading
== for 4 hours, she had 330 pages left to read. T
How long is the book? ||
How long did it take Priya to read the entire book?
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i
Mmir drove from Jerusalem to the lowest place on Earth, the

Dead Sea.
His altitude relative to sea level (in meters) as a function of

time (in minutes) is graphed.

How fast did Amir descend?
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A young sumo wrestler goes on a special diet to gain weight.
The variable w models the wrestler's weight (in kilograms)
after the wrestler has been on a special diet for t months.
w= 80 + 5.4t

How much weight does the wrestler gain every 2 months?
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A paintball court charges an initial entrance fee plus a fixed price per ball.
The variable p models the total price (in dollars) as a function of n, the
number of balls used.

p =0.80n + 5.50

What is the entrance fee?
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Which function has a greater y-intercept?
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Function 1 is defined by the following table.

FuncW defined by line b 2 W"f“’/

Which function has a greater slope?
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End of the chapter
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